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1. EEFHRA

(DWASZIA 0 0 0
(2)E&EIRA 32,804 32,766 38
FEETFSESERA 22,558 22,575 A 17
FIAEESESEIA 2,078 2,141 A 63
BAISESEIRA 224 234 A 10
BEEEESESEIINA 7,944 7,816 128
(3)FEIA 11,324 12,964 A 1,640
RAEAREFEIRA 2,875 2,931 A 56
TZRAKESERERESIA 1,588 1,708 A 120
MERKRSILA 1,287 1,223 64
HHREZILA 6,894 6,369 525
LEFIRA 3,199 3,043 156
EMEMULA 3,695 3,326 369
EREEFZEIA 1,555 3,664 A 2109
EFAALEETEIA 1,555 1,918 A 363
ERBFIARBIA 0 1,746 A 1,746

(4) EERESSMEIIRA 155 155 0
SETHIRAG 44,283 45,885 A 1,602

2. BEFFTH

(WEXEXTH 34,340 35,821 A 1,481
i )EEAGESEIH 25,636 26,095 A 459
ODAEEBEZH 19,515 20,108 A 593
‘ZERMZE 4,957 4,949 8
WHEFLTH 11,462 11,922 A 460
EIELEEXY 3,096 3,237 A 141
QB ERH 6,121 5,987 134
REXAEXZH 278 424 A 146
BIEEREZH 516 512 4
HELEX WM 169 124 45
FIRIBARE T H 235 209 26
KEKEXZ 263 243 20
Bl (EHFELERH) 3,562 3,538 24
EEfH 136 68 68
EBEXH 396 380 16
NHEARXZH 217 249 A 32
FENEERH 15 16 A1

i gl 334 224 110

i) —REEETH 8,451 9,472 A 1,021
REARER L 4532 5,570 A 1,038
FEREXL 106 106 0
TERAKESEEWERESTH 3,200 4,320 A 1,120
MERKTESIZH 842 760 82
FOMBAERFEEXH 384 384 0
HEEEEZH 3,866 3,849 17
FEESZH 910 909 1

H b X7 2,956 2,940 16
EREEEESH 53 53 0
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i) TERKESZEERMEERH 253 254 A1
THEAKEESEERMFEEXZL 253 254 A
(2)EBETH 9,055 9,176 A 121
i) —REEEXTH 8,225 8,395 A 170
(D)\#%i.‘ﬂ 6,097 6,323 A 226
ZEHMZE 1,480 1,478 2
‘f’-‘ﬂ%éiﬂj 3,640 3,816 A 176
EIEEEXZY 977 1,029 A 52
QFEHERH 2,128 2,072 56
WREXEBEXH 88 135 A 47
BEEREXH 162 160 2
HELEXWN 53 39 14
NHEES -S4 74 65 9
FEKEZ N 83 76 7
ERAZH (EERELERL) 1,124 1,106 18
EfHXZH 43 22 21
EHEXH 125 119 6
NHAAREZHCGEATREEZSED) 139 149 A 10
FENZEESRH 5 5 0
SEEXH 127 126 1
I 105 70 35
i) ERFRSERTH 830 781 49
EHBRSEXH 830 781 49
BEFERZME 43,395 44,997 A 1,602
EETHINZEZE(A) 888 888 0
I #EFENIRTZDER
1. BEFHIRA
(1) BB 5 I LTES AR A 0 0 0
BEEHIRAGT 0 0 0
2. ZEFERH
(1) BB LTBEEMEXH 888 888 0
BEEREZHE 888 888 0
BEEHIRETELE(B) A 888 A 888 0
B4 F&RBINE D EB
1. BFESHIRA
B IS E IR AT 0 0 0
2. HIEEEIRH
AR A 0 0 0
B EEIN T =48 (C) 0 0 0
V¥ EEXZH
FEEXZH (D) 0 0 0
VEENNEZIEE) (A +(B)+(C) — (D)) 0 0 0
VIR EA#RHR U 2 Z= 48 (F) 0 0 0
VIRER#R IR =58 (E) + (F) 0 0 0
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